1) Ctapbint pbiHOK 6e3 nuaepoB(paccmaTpuBaeM B obLlem pbiHOK obLienuTa, dactdyn
He B cyeT(Tam ectb McDonald's,KFC,Big Burger). byaem 3axogutb Ha pbIHOK C
Npo4yKTOM-arperaTopom

2) Ckonbko MOJNIb3OBATENEW:

3M venosek(Mocksa) + 1.8M(CaHkT-INeTepbypr) = 4.8M(HaceneHune Bo3pactom 19-40
ner)

PAM = 4.8M * 0.5 = 2.4M knueHToB * 400py6(cpegHun yek) = 960M py0;

TAM = Tonbko 6eaHbin cermeHT. 2.4M * 0.7 = 1,68M knuenToB * 400 py6 = 672M py®6;
SAM = internet-only. 1,68M * 0.5 = 0,84M knuenToB * 400 py6 = 336M py6;

SOM = TONbKO Te KTO paHblUe yxXe 3akasbiBan egy B uHtepHete. 0,84M * 0.4 = 0,336M
knuneHTtos. 0,336M * 400 py6 = 134,4M py6

CAC - 143 py6

Margin - 35,75%

3) bOTO NPUMOXKNM.

4) 4 atan - commodity.
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